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' O 2-23-44
'Student: ______ Instructor: Alfredo Alvarez Assignment; |
i_Qate: _ _ Course: Math 0410 /0320 Alvarez MATH5THGRADEWARMUP1 05j ‘;
1. Write the whole number in expanded form. ¢ Oij’f' A (/0?_)"{' 2(/0 ) ~FOC(1)~ "//
6620 6(/0'/"'/")”1'5(/0'/‘-3—(' 2(/0) Fo(l)- »

G -+ ocny="
6620=: (Type your answer using plus signs.) é'((;;:uz;b ggfsoi— Z,Z,:; (: ) :: Cl ) Y

Answer: 6000 + 600 + 20

b =
2. Find the perimeter of the figure. 4 P,_ culage A g
L 171/ ‘

C 1 et @j

The perimeter is ffaet.

Answer: 28

3. wzl Pl
Find the perimeter of the figure. — )
Rectangle 2 feet /0 2 ( S‘)—fZ (Z .

. 5 et f=r0x%

Answer: 14

* Find the perimeter of the f ]
n e penmeter o egure/”-’-‘/()—(—‘(-—r}-fl?-r?f/o
] P= A + 34174752
cm 7‘—
P~ {7 + (71740
K- 39 ~+7+72
/é’ - 9’/7‘/0 &

< /ﬂ S,—I x\““x A 10 centimeters

17 centimeters

3 centimeters 7 centimeters £

4 centimeters

10 centimeters F

Answer: 51

5. A new notebook computer with DVD player costs $863. Derik Muller has $1252 in his checking account. How much will be
left in his checking account after he buys the notebook computer? / 25e

2 ’ — 7
Derik will have $ remaining in his checking account after he buys the notebook computer. _._-3—6——:

Answer. 389
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6. Find the total land area drained by the C and D sub-basins. K River Basin
&
/¥5 ove T 500

4 7Y ovv ) 3 530,000

—_—— -

26 i 246,000
g Ll 162,000
.

T sam I 7

Answer: 263,000

7. How many more square miles of land is drained by the A ¥ River Basin
sub-basin than the B sub-basin? o E
S 70 go £ 3005%0,000
—2 9 7992 B —
3 32000 3
2
3 248,000 :
2 '—I L) 162,000
= 5 79.000
S . 2 40,000
5 od _ |_| | |_| =
< @ [H D E F

T Jsam Vd

Answer: 332,000

— S - | e

Alexander is installing a pen for his dog. The pen will have 109 melers
the shape and dimensions of the figure shown to the right.
How many meters of fencing are needed to enclose the the

erea shown? P: M ’,3’7‘(‘1- o 70 meters I31 meters C
P70~/ (3169 A
p.: l’]ﬁ' ~+ 13 + 6 60 meters D

P Y
Answer: 370 @

9. Evelyn Abrams is reading a 544-page book. |f she lhas just finished reading page 455, how many more pages must she

read to finish the book? 5-9/9/
T lpages — ¢ 55

Answer. 89
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10. A permanent game board is made of granite. It is in the shape of a square with side lengths of 45 ft. Find thetperimeler of
the square playing board. 4 p 2 ¢ };' Cr \-
qfi G5
The perimeter is | feet. 72 Pz ¢ (¢s) X _ ¥
= [Fo |70
Answer: 180
1.
The table on the right shows the number of a particular store State Number of Stores
in ten states. What is the total number of stores located in Arizona 74
the three states with the most stores? California 92
Florida C1580 & [
A total of stores are Iocatec} in the three Georgia 39
states with the most stores. /Y llinois (96 =1
7¢ New York (1400 &—1—
0 Michigan 61
'f—’ /4 kel Minnesota 46
3 q (1,, " Chio 63
Texas 38
Answer: 394
—
Srn \-;’{’
12. Round 3,656 to the nearest hundred.
The number 3,656 rounded to the nearest hundred is . f ‘L/ rv uw\u( MW : ;_
Answer: 3,700 2770 o )
> 4 e
S O
13. Round 48,443 to the nearest thousand. (f y 9‘5‘ 3
48,443 rounded to the nearest thousand is I f T :
| é._) o 7+ rv U\-\u, Yo
Answer: 48,000 (-f OGS )
— ________._-—-—'_"FFF-'

3of 50
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14.

Find the area and the perimeter of the rectangle shown to the right.

The area of the rectangle is ] {n

The perimeter of the rectangle is : {2)

(1) O cubic meters. (2) O cubic meters.
(O square meters. () square meters.
) meters. ) meters.
Answers 8

(1) square meters.
12

{2) meters.

https://xlitemprod.pearsonemg.com/api/v 1 /print/ma

L=Y

4 meters

-.E:l .

|2 meters

p= 2L+2 W
P=2(¢)F2(2)
P= 7+

w =

15. One triple fudge brownie contains 149 calones How many calories are in 4 triple fudge bro évmes?

L

() = /S“i(‘f)
Answer; 596 = @

52
C,n wnlt i; g G-j:

k8

16. The textbook for a course in biology costs $98. There are 34 students in the class. Find the total cost of the biology bocks

for the class. [

The total cost is $[___!. ( (?3 )-:_ 2y
A ) — Y
Answer: 3,332 & - 3}} 2 y

4 af 30

9y
3
T392

294
G332 D
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17.

18.

Cabot Creamery is packing a palette of 20-Ib boxes of cheddar cheese to send to a local restaurant. There are six layers
of boxes on the pallet, and each layer is five boxes wide by six boxes deep.

a. How many boxes are in one layer? L ‘-7/'0/ - (;)[6) K? Q bUX

b. How many boxes are on the pallet?

¢. What is the weight of the cheese on the pallet?
?c//vf 670/{? Q /XO laom
a. There are : boxes in one layer.

: e ™
b.Thereare[ -~ |boxes on the pallet. két’l)é se (/ 'z Q) /2(9 ) < 3 6 %La A )\

¢. The weight of the cheese on the pallet is : Ib.

Answers 30
180
3,600

A plot of land measures 70 feet by 170 feet. Find its area. ( ( 70,»' W 70 J‘f
{70

The area of the rectangleis [ | (1) J e
(1) O feet A (/7)(7\) o 00
@) cubi.cfeet. /‘1'—' //5.00 /19 0

O square feet. ] / GO0

Answers 11,900

(1) square feet,

19.

20.

Sof30

{
A pixel is a rectangular dot on a graphing calculator screen. if a graphing calcu!a screen contain pixels in a row and
92 pixels in a column, find the total number of pixels on a screen, 72' % @ ?‘Z_
The total number of pixels ona screenis| |, ﬂ = -—Q-C—-
D T
Answer: 6,072 7] ‘
£07%

¢ ET

One ounce of nuts contains 194 calories. How many calories are in 6 ounces of nuts? / 9 Y

6
[:calories 7'?%/: 7/— X b
[w)= 19906) /16

Answer: 1164 i // 6 (/;R)

2/6/2019, 10:15 AM
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21. The Thespian club at a local community college is T-Shirt | Number of | Cost Cost per
ordering T-shirts. T-shirts size S, M, or L cost $11 each Size Shirts per Size
and T-shirts size XL or XXL cost $14 each. Use the table Ordered Shirt Ordered
on the right to find the total cost. (The first row is filled in S 4 $11 $44
for you.) ) 5

L 3
XL 10
XXL 4
Total Cost
T-Shirt | Number of | Cost per Shirt | Cost per Size (
Size Shirts Ordered
Ordered & L/
S 4 $11 $44 T g
M 5 5. (I B s 33
L 3 5 K S 23 /¥ O
XL 10 5. /¢ Bl Je O <6
XXL 4 5 /4 B 6 -+

Total Cost$ 3 1 ‘8

Answers 11
55
11
33
14
140
14
56
328

C(

22, A plant for a tea company has bagging machines capable of bagging 3000 bags of tea per minute. If the plant runs 18
hours a day, how many tea bags are produced in one day? /f

The company produces :’ tea bags in one day of operation. )( 63 O

Answer: 3,240,000 . (3000/( ,f huv-/b ) :__ %
(3000) (LT + 60)el  [©

/ 0? ¢ - }5?:'?_‘%'/# £
y 3000 (3000) (/0?0)‘— m';u}:x
X -X7A%
0o 00
o000
> 240

6 of 30 2/6:2019, 10:15 AM
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23. Divide the following and then check by multiplying.
8 ) 368
Select the correct choice below and, if necessary, fill in the answer box to complete your choice. Lf 3
© A. The quotient does not have a remainder. The quotient is . . [Cf f )
OB-Wewwmm%ammﬂWHmmem&TquMmh R
O ' v
(O €. The quotient is undefined.
Answer: A, The quotient does not have a remainder. The gquotient is .
24. Divide the following and then check by multiplying.
4’ 1990
Select the correct choice below and, if necessary, fill in the answer box to complete your choice.
OA-WewmmMmemmeMWWMaTqummh
O B. The quotient has a remainder not equal to 0. The quotient is R
(O C. The quotient is undefined.
Answer: B. The quotient has a remainder not equal to 0. The quotient is L 497 |RI 2 L
25.  Atruck hauls wheat to a storage granary. It carries a total of 7,836 bushels of wheat in 12 trips. How much does t
haul each trip if each trip it hauls the same amount? /
7836 :
The truck hauls [: bushels each trip. —_
[2- (7.2
63
—L O
Answer; 653 -LG—?);
—_,C_E.G_l_w -
26. Suppose the elevation of a peak on a certain planet is 21,120 feet. A mile is 5280 feet. How many m;les tall is the peak?, ({_
<
The peakis || mies tal __Z.f.g_;-f;- $ig0 377 lzco
O i
—(2 1120)
Answer: 4
Ore,
WAk [
27. Find the average value of the following list of numbers. r{ / O / / I q Z f 2'7 S- _;}’
/
10, 25, 52, 27, 11, 19 ks //‘f/? £75 f'*fZ?—r-; L;}‘
'il iy 1
The average value is ] Z % + 5%
Answer: 24
2y
—_— 2 ) s s
L' ¥
O f £ viq

Tof 30
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3 iy
28. Evaluate. '7 - 7< 7

’ 707475 Gra)
g S— ¢ Ge7=

Answer: 343

28. Simplify.

A
20+8+5 ZC)_‘; 5,5—.:

Select the correct choice below and, if necessary, fill in the answer box to complete your choice. 2,
o+%0 =

) A. 20+8-5= ’—*_-\\
{0 B. The expression is undefined. @/

Answer: A, 20+8+5= 60 |

30. Simplify. W

LR 30+6e5tG

Select the correct choice below and, if necessary, fill in the answer box to complete your choice. S" " S»—__T. ci —

(O A. 30+6:5+9= lsf_'.ci._.

(O B. The expression is undefined.

Answer: A, 30+6-5+9=

31. Simpliy. m

30+5-86 30 '-%'S'-'—G -

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

VA, 30+5-6= :
{0 B. The expression is undefined. O

Answer: A, 30+5-6=E

11
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FeEMDIE
21 374. %L:

37+'3-

32, Simplify.

Select the correct choice below and, if necessary, fill in the answer box to complete your choice. —
, 27+ 7
+ 7

(O B. The expression is undefined.
e

21
O A 3+ 5=

21
Avsver: A, 37+ < dd |

33. Simplify. @@

203+6+7 2¢3+F (o] =

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.
6+ 67 =
(O A, 2+4346:7=

() B. The expression is undefined. 6 —(— ('f,'l =

Answer: A.2+3+6-7 =/ 48 l

34. Simplify. AV B

6+2)-(5-2)

é’(‘ y ¢ ( g '—L) ”
Select the correct choice below and, if necessary, fill in the answer box to complete your choice. \_

OA B+2)+(5-2)= (a?) o (3) -

) B. The expression is undefined. ? . 3 -
Answer: A. (6+2)+{(5-2)= 24

.;Si;n J . —— o e

3% - [34 - (10-5)]

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.
- 3y — ()=

_ 31—
) A 4_ - - =
QA 3 -[4-(10-8) 3 4 _ [g ¢—sf=
_) B, The expression is undefined. ¢ _
37— [29)=

Answer: A. 3'-[34-(10-5)]=] 82 |

9 of 30 2/6/2019, 10:15 AM
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36. Evaluate the expression for x=2 and 2= 3. 6 X -@ — % )< —_
e 6(2)(3) —s5(2) =
Bxz - 5x = [ 6( 6) *""S'n(Z) -
Answer: 26 3 6 T / O s
37. Evaluate the algebraic expression for the given value. (4e 9/4— 2 l )(-F 6

x2-5x+6.forx=6 R
(¢) —s(6)t6 =
Whenx=6.x2—5x+6=’:. (6)[6)"5—/6)‘1"6 —

{Simplify your answer.)

6 —207F6 =

Answer: 12 G 6=
B S j dz=>
38, Simplify. ( E@‘}w])/,u

2+8:5-15 2+ Fes —(5 -

PO R — 24 40—/ =

Answer; 27 (fl el
39 Solve C-I;_c.l-(“your solution s 7 C """'f’t'J:.

xr327 s 3= 73 i
The solution is x = [: X’f/ (t/()ffs ; 77

Answer; 4 7 - 7 G;'OU (i
T Check
Iz 6

40. Solve. o - XF_S—G
8x= 56 3L _ jy4
The solution is x = |:

Answer: 7 (6: g-é 6:—0 J VL

41. Solve the equation. First combine any like terms on each side of the equation. )(C }Ht’é 3¢ &7/
x-§=-3+4 Y5 =31 Cé)'-j; = ~3 Yy
The solutionisx=| | K—5= | G—5 = ~34

Answer: 6 )("‘7-? = > I — l
I (L A=e)  Goed_

10 of 30 2/6/2019, 10:15 AM
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Chick

42. Solve the following equation. Z Xm0 =0 2X—2 = O
2x-2=0 X~ 2= OFL 2(1)-1=

Answer: 1 -__Zf_ﬁ-: Z C) -
e =T oo A_

43. Solve the equation. ;‘/q /s =S S g“//).-/. [5= 5%
5n+15=55 SH +f5—~45 = 657 5 §(7) +1s= 5
S — $n = 7o o Is= ¢
s£a = 22 $E=¢%
Answer; 8 5-

n=% G0 A

44. Write a fraction to represent the shaded part of the syringe.
f Liyy
Lt

=i

The fraction represented by the shaded parts is ;

Answer; 5
8
45. Find the prime factorization of the following number. Pn A2 2 J ,2'/ f/— 3 { ’/ I 5 { 7/ , 1 .
45 7 )f‘

The prime factorization of 45 is . /5 ? =
o=
Answer: 32, 5 { 754 _@

/3//7/13

46. Find the prime factorization of the following number. / r Mz 2 3 f ) / { y,

8

The prime factorization of 8 is . ? Ao 2~ )

Answer: o3 j‘ —

11 of30 2/6/2019, 10:15 AM
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47. Write the prime factorization of 304. 2’/-';« 3
] 2 1 !
The prime factorization of 304 is (1), | < / )’/ / 7/// / i /7/ /? et
(1) O 2°.19. O 2:3:5-7. w
O 2*.18. 30%~=
0 2319,
O 2-19.

Answer: (1) 24 +19,

48. Find the prime factorization of the following number. ﬂ/m " Z/ 5/ f; 7 /1 /fs /7 17 ‘
70 70 s DS

The prime factorization of 70is | | l—i)'_— /0= Q @ 577N

—
A 12547 T .
nswer ‘ 0 - ?Q S ’ L_.a-—f”
49, -
Divide -%4—22. Write the quotient in simplest form. //[ % 20 =
/7
11 — =
—75-1-22:‘:(Type an integer or a fraction.) é""’}" -zié
Answer: 1 —l—l e L =
K o LT D
-1 1Y) ——— = 2N )B) 2
Lyt @% il __ﬁ __)__
. Perform the indicated operation. e o
.5 riag 0,3 77
614 /"""/;,/’I}
64'?:: (Simplify your answer.) o 7; . 3 7
6 o ! !
Answer, E
5

12 0f 30 T T 2019, 10:15 AM



MATHSTHGRADEWARMUP105j-Alfredo Alvarez 125:r'-".\'litcmpmd.pearsoncm g.com/api/vl/print/ma
‘s l)2 1, - i

51. Perform the indicated operation, V4 o /f G
'Y -~
Ly A i
Ly £ = !
111 : o 325/
FRaryd {Type an integer or a simplified fraction.) /

Answer: 2

!/
11 2
S e —— e e ——— _ . — 'fﬂ_
T L o

52, 1

Find 2 of 40. é’ (?‘-_y -
! /! o
7 of 40 is :} (Simplify your answer. Type a whole number, fraction, or mixed number.} ‘9; -/——- . /
Answer: 10 ? [ = Z

e e (Z/ff?_‘: Fo)—!

53. 3 2 el
Find 3 of 30. Write the answer in simplest form. ,S__ ( 25 S

/

3
5 of 30 is !:, (Simplify your answer.)

Answer: 18

94. Insert <, >, or = between the pair of numbers to form a true statement.

4.597 4.6

as97  las {U“.K C/ ¢ S97 < & J_OPC})

Answer: <

55. Write <, >, or = between the pair of numbers to form a true statement. O - 7, g YOO » -

0.33400 0.334

0.33400 0.334

Answer: =

13 of 30 2/6/2019, 10:15 AM
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O ? 3 Stor o
56. Round the decimal to the nearest tenth. c
K- 3L¢
0.93
do nofrev
0.93 rounded to the nearest tenth is : W,W
Answer: 0.9

57.
Round 0.6088 to the nearest thousandth.

Answer: 0.609

58. Round the manetary amount to the nearest dollar.

$96.20

$96.20 rounded to the nearest dollar is $[:.

Answer: 96
59. Write as a decimal. 3 ,L — e O /
/U9 /Wl /.00

'1 -~

Ll 12
3700 3 7':,_0: e wr ~/ 0o )
T — 2+ o0l = O r.,

’__-_H‘—“*\
Answer: 3.01 3 e d ’ “//

_ISO_Add the following. ) - g_.- V _O @@ . -

8.4+8.21 ~+ -2/
84+821= | (Typeaninteger or a decimal.) /(ﬂ G \

Answer: 16.61

61. Subtract and check the following. / 5’; O
15-3.3 -—_,
15-3.3= {Type an integer or a decimal.) - ’ ’ 7
Answer: 11.7 )

14 of 30 2/6/2019, 10:15 AM
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L AL TC
r- /G 3+423.855F22 9

P= 62.7y

6

A landscape architect is planning a border for a
flower garden shaped like a triangle. The sides
of the garden measure 16.3 feet, 23.55 feet,
and 22.9 feet. Find the amount of border
material needed. P‘

The amount of border material needed is ‘: feet. 2355
(Type an integer or a decimal.) 22-%

Answer: 62.75

63.

The bar graph shows the top five chocolate-consuming

nations in the world. Use this graph to answer the following. WL TG e

Consuming Coutnes

()
(=
i

Which country has the greatest chocolate consumption per
person?

L3N]
wn
i

(]
[=]
1

Choose the correct answer below.

Pounds of Chocolate per Person per Year
o
1

(O Country E 168
O Country B
2 Country C =]
O Country D
(O Country A

Answer: Country C

64,

15 0f30

Use the values of the coins given below. Write the value of the group of coins shown
to the right. To do so, it is usually easiest to start with the coun(s) of greatest value
and end with the coin(s) of least value. 225 of

Penny Nickel Dime Quarter 2 X (/ ‘;} ‘ L W '_5‘;,
oo $0.05  $0.10  $0.25 o g‘o 5o, ;75

° FO
The total value of the group is $|:f. ’,” * N

Answer: 1.05 Cr' O f

2/6/2019, 10:15 AM
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65,

66.

Cc=ND

Find the circumference of the circle in terms of . Then use C - T(32¢)
the approximation 3.14 for x and approximate the -
circumference. (O 52 ﬂ-
) c=m
C = 3/vYD
a. Find the circumference of the circle in terms of . C, - 3,1y 27
- Ad =T
The exact circumference is : ft. C —_ / é Q. ? ;7 )
b, Find the circumference of the circle using 3.14 as an approximation for . {
The approximate circumference is I fl. {Round to the nearest hundredth as needed.) 3, / Y
X &
Answers 32n { 6 2—7
? O Lo
100.48
e . (Je08B
A 1-ounce serving of cream cheese contains 6.8 grams of saturated fat. How much saturated fat is T 6 ounces of cream

cheese? i 6 G . i

1 68V
i ()= G23(¢) 50,3

Answer: 40.8 @

67.

The screen of a portable digital device is a rectangle that measures 3.5 inches by 2.4 inches. Find the areg of the Stzgen.
= " - 2' "f )
The area is :! square inches. (Type an integer or a decimal.) Z‘ _3__5;) -_/> 3. 5

= LW X249
Answer. 8.4 / Z- ‘f) /0

68. The diameter of a ferris wheel is 280 feet. Find its circumference. Give an exact answer and an approximation using 3.14

[6 of 30

for x. C =T D
The circumference is :] feet, C= '\'ﬁ’( 274)

(Type an exact answer in terms of n.)

The circumference is approximately I feat.
{Type an integer or a decimal. Round to thf jearest hundredth as needed.) C - TY D

Answers 280n 270 _ CC g*’/%p
879.20 X _3" (Y C* B.,/Y(é‘j’cﬂ

ﬂz{géo - 379'ZO>
L{
37 49

20672079, 10515 AM
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69. A meter is a unit of length approximately equal to 39.37 inches. If someone is 1.64 meters tall, what is his or her

approximate height in inches? 4 - leCy
3937 &

Using the given conversion, someone who is 1.64 meters tall has a height of inches,
(Type an integer or a decimal.) Cyo? b

m

)z 39.37((,6%)

Answer: 64,5668

—_— e

70.  One year, farmers received an average of $12.095 per bushel of wheat. How much did a farmer receive for selling 100

bushels of wheat?
, [2.0%¢
The farmer received $:|. (Round to the nearest cent as needed.) /
oJ

_/____J
00000

0 00 0

o7

e — = ‘ Z . -
71. Perform the indicated operation. ""‘\
3.7+0.05

_ _ 3.770
3.7+0.05= : (Type an integer or a decimal.)

Answer: 3.75

Answer: 1205.50

72. Find the decimal equivalent of the following fraction.

1"
20

LA
o

Answer: 0.55

s ——

73. Write as an equivalent decimal.

&=

74, 7 ' Z‘z“"_:

Write 2— as a decimal.

20 2»—1‘1"::

7 20~
220": 2_{_055-

Answer: 2.35 @

17 of 30 2/6/2019, 10:15 AM
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75. Find the value of the following expression. Give the result as a decimal. } e 3 /7 . 3):- )5 3

3
3°30.3) ; - 2[«‘?2- L
CRoe

3 =
—=3(7.3) =| {Type an integer or a decimal.) e G ""‘2 I" ?‘ 7o

5

Answer: —21.3

76.

The circle graph is a result of surveying 800 college . ‘] f
students. They were asked where they live while attending Bl Parent or guardian's @-

college. Use this graph to find where most of these college W Off-campus rental 215
students live. &1 Campus housing 220

(] Other arrangements 13
[l Own off-campus housing 72

Choose the correct answer below.

(O A. Campus housing

(O B. Other arrangements

O C. Off-campus rental

(O D. Own off-campus housing
-5‘.(E. Parent or guardian's home

Answer: E. Parent or guardian's home

77. : . -
Find the square root. J49 = 7 o -

V& g6 - “Fs

Answer: 7 s
i
kA ———

; C
8. a=b6 aéfzgf ct

Find the length of the third side of the right triangle.

The length of the third side is . (

Answer: 10
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79. Sketch the right triangle and find the length of the side not given. If necessary, approximate the length éo the nearest

thousandth, oy ﬁ "f é = ¢ '8
A= e) it

What is the length of the side not given?
b= G/t ct

? (Round to the nearest thousandth as needed.) o L
Ly = C
Answer: 5 (/ Ly = {/ v

80. Sketch the right triangle and find the length of the side not given, c=7 }

2 L ]
leg =48, hypotenuse =73 A -'Yﬂ &_ d - b = C

_ 4
The unknown lengthis[ | b=us (? f Tt bs @ 3y

4 .
(Type an integer or decimal rounded to the nearest thousandth as needed.) Z 3 ¢ (/ -+ é 3 '3 ‘?
ﬂf/ = 2367 = S35 23y

Answer: 55 ¥
i 4.;1_: @

81. Find the ratio of the corresponding
sides of the given similar triangles.

The ratio of the corresponding sides of the first triangle to the second triangle is I
(Type the ratio as a simplified fraction. )

Answer: 5
2

82.  Given that the pair of triangles is similar,
find the length of the side labeled n.

Answer: 4.5
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83. Atriangle is formed by the building's height
and shadow. Another triangle is formed by
the flagpole's height and shadow. Using the

following diagram, find the height of the

building.

Answer; 280

84. Draw a tree diagram for choosin
of possible outcomes.

O A,

-— o o

AN A AN

Tad 10 b= 0 1D st Fpd B e I 1) b lad P

=

/N

al £ T,
3

QQ

20 of 3¢

X . %
25 4

htips://xlitemprod.pearsoncmg.com/api/v1/print/ma

(xy= 2§(57)

2/6/2019, 10:15 AM



MATHS THGRADEWARMUP105j-Alfredo Alvarez hitps://xlitemprod.pearsoncmg.com/api/v1/print/ma

85.

Draw a tree diagram for spinning Spinner B 1 time. Use the Choose the correct tree diagram below.
diagram to find the number of possible outcomes. ~ A - B
Spinner B

B

<B
B

Based on the tree, what is the number of possible Oc
outcomes? E

— <

Answers R

e

86. if a single 8-sided die is tossed once, find the probability of rolling a 1 or a 7. / JJ/I 5 Sf _f; 6
V4

/ /.
The probability is !: {Type an integer or a simplified fraction.) /j
o) [ or 7
of
Answer: 1 [+ |
4

- | | J

87. A marble is selected at random from a jar containing 5 red marbles, 2 yellow marbles, and 6 green marbles.

What is the probability that the marble is red?

The probability that the marble is red is |:] (Type an integer or a simplified fraction.)
f
Answer: 5 _(_f( - r -(’,,( —
o —2 VA~ el t 5%

ﬁy‘-fz:f-é
—

s -

2] of 30
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88. Find the perimeter of the following figure. Z - / =

/.‘: 2L ~+2 W

11ft| Rectangle

s h P 30+ 21
Perimeter=l (1 Qf Sﬁ & D \
(1 Ot —
O sq.ft
Answers 52
(1) ft

89. Find the perimeter of the following figure. ( l = ?D @

ﬁlmllelogra/ﬂ cm p T2 A+ 2o
12 /:Z(Ql)fZ(SL) Z(}/
/= 8+ Gy

N 1 - o G(f
Permeter={ | (1) / - / Vf = f
(1) O sq.cm /%

O em

Answers 148

(1) cm

220f30
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90. Find the perimeter of the following figure. p - A‘ 7‘ /3 +C_
3 p< 16—+
P (vr Y

The perimeter is :’ ) —

(1) O sq.in.
O in.

Answers 18

(1) in.

91. Find the perimeter of the figure shown to the right. 6 . C,
= Ao BACHD 274

=284 L1+ g por 39
= S —# 7 s 3¢ A sp D

/: 7 G 'T'é)’—{—} T =
V4 /G/"ILBL 20
Perimeter= l (1)

(1) O sq.tt.
O t

Answers 133

(1) ft.
92. Find the perimeter of th@on shown to the right. 19 14
/ 14 m
/Y
Perimeter=/__ | (1) /ﬂ: SK L
(1) O sqm /Yy
O m

Answers 70 @
(Hhm
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83. A computer has shape of a rectangular solid. Find the volume of the computer, with dimensions of 4 inches by 4 inches by
4.4 inches,
| = L—f/ WT‘(/ H=<4% v 2
The volume of the computer is M | V - L_ W / _/_ (/f G
{Simplify your answer, Type an integer or a decimal.) '
VERIIEBICAD, AL

(1) O sqin. g ‘ Cv (/
O cuin. ;[H’*Lf‘q (/'/é #G,__Y,_-a
) in _ 7 09/

w=Y :

Answers 70.4 Ly

{Yeuin,

94. Insert <, >, or = in the space between the paired numbers to make the statement true.

2_5

21 5

(1 O
O
O

v A

Answer: (1) <

95. Insert <, >, or = in the space between the paired numbers to make the statement true.

86. Use the commutative and associative properties to simplify the expression. / G
+4a) /6=

(61K /6=

(16 +a)+ 16

RTE —

Answer:; a+ 32
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97.
Find the x- and y-coordinates of the point C.

The coordinates of C are
(Type an ordered pair.)

Answer: (1,3)

hitps:/ixlitemprod.pearsoncmg.com/apifv Uprint/ma

L 2a

o
N

[
o]
&

98. Determine whether each ordered pair is a solution of the given linear equation.

ax+3y =18; (3,3), (6.0), (0,6)

Is (3,3) a solution to the given linear equation?

) No

) Yes

Is (6,0) a solution to the given linear equation?
{3} Yes

O No

Is (0,8) a solution to the given linear equation?

3 Yes
) No

Answers No
No

Yes

Q‘J('r}j =/ 4

(53
) +30v)-7 7 7
[LvG = (7 ) )(
21 |3 V< M

4/{*5‘7:/; /)(6/0)

Y6) + 3 /3
ly 0 = /7 /o >(
it 17
C"Xv‘3'7" /¥ (0)6)
W) +306) = |7
O+ (8~ /7

<
[1=/7 Y& 7

25 of 30
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89.
For the equation, find three ordered pair solutions by

completing the table. Then use any two of the ordered pairs
to graph the equation.
1

y=x

Complete the table below.

x y
0

-2

Use the graphing tool to graph the equation.

Answers 0
1
-1

htips://xlitemprod. pearsoncmyg.com/api/v 1 /print/ma
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100,
Graph the equation.

y=2x+7

Use the graphing tool to graph the line.

Answer;

htips://xlitemprod.pearsoncmg.com/api/v1/print/ma

20-_'
164

12

X

b

T T T T

Ty
20 16 -12 B

LANLLIN WL ki e y e’

12 18 20

270f30
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101,

Graph the linear equation. Ay
10

y==3x

Use the graphing tool to graph the linear equation. 64

Answer:
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102. Given the following function, find f{ - 2), f(0), and f{1).

f(x)=5x -5 1[6() = SX—s [6(}‘: AX—s" /OC) SHX—y
a1 HOSSCO-S Loy spo)—r A = sO) -5

_ /(('z,) V-1~ A o
i — fo) < 0—5 Fyzr—s
= ] 0)=~5 -

Answers - 15
-5
0

103. Given the function f(x) = 5x + 7, find the indicated values, [ =
‘ - g s = Sir

(a) #(6)

(b} f(a) G)= 5(6)+7 /éﬁ) r/“)“f?
(a) f(6) = I_—| {Simplify your answer.) /-( ) /

/[/ 6 - 3 O+ 7
{b) f(a) = : (Simplify your answer.)

Answers 37 @

ba+7

104. Graph the function.
f(x) = 5x =1

Choose the carrect graph below.

O A O B.

Answer:

290f30 2/6/2019. 10:15 AM
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108. The function V(x) = x3 may be ) % Cm }

used to find the volume of a
cube with side length x. Find
the volume of a cube whose
side is 12 centimeters,

V< < x !
V(1) = (1)
/(L) = (_{z,)(h)ﬁz,)

The volume is ‘:l cubic centimeters. (Type an integer or a decimal.)

Answer; 1728 (/( I Z) - (/ Vy/ / 2)

() - /’7?5

/G
X [z

137

2/6/2019 1015 AM




